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4. 71EpAR A 5] 100 100 0
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1. 05873 70 | 139,926 139,800 126
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1A 7§30 550 550 0
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1. 9]¢ 10,000 10,000 0
3 [=IAFLEAA(FET) 22,416 22,416 0
1. 05890 22,416 22,416 0
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1. 05890 1,750 1,750 0
5. [Z a5t A A (8 3k ) 15,210 15,084 126
1.+959 9,488 9,334 154 | Z 02 ZHAF 2% 8] 1 130,0009%13] = 130,000
Z 2 ZHAHE]  =26,0009%13] = -26,000
WA (9] ) 1 70,00099%13] = 70,000
WSk AL WEH] : -20,0009+13] = -20,000
2. 05f-g ) 5,722 5,750 -28| A E g n] ¢ -11,00099%13] = -11,000
W3 e du XY - -13,0009+13] = -13,000
SR 91 1 -4,00099%13] = -4,000
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1.HFT$) 10,000 10,000 0
9.[Z]doluwd A NAAFG (FA) 30,000 30,000 0
1. g Hk=8H 17,880 17,880 0
2. ] E 1] 12,120 12,120 0
6.8k luke o] 169,559| 168,247 1,312
1.8t 7] £ 95,103 93,557 1,546
1.3A 71229 | 33,424 31,295 2,129
1[2]wgAEy 8,940 8,940 0
1.09m] 1,940 1,940 0
2. 4N - Fx] 4,000 4,000 0
3. AAFG TR 3,000 3,000 0
2. (]3P 10,644 8,515 2,129
1.k g 4,437| 3,987 450 if;?Xﬂgﬁiéggfm’%%%%w@ﬂ(% 450,000
2718 FT 8w 240 240 0
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2.0 9,800 9,800 0
3. gRke - Fx] 400 400 0
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A AWEETY ¢ 200,0009%13] = 200,000
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ZHLTFY 1 -220,0009%13) = -220,000
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4. [fr]arA e e 200 200 0
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5.0 AUl 2 Aol Fhasdepyd 45,000 0
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2. H]EF 4] 18,000 18,000 0
2.4 ] fA 72,456 72,570 -114
1.3 A A 7] A 72,456 72,570 -114
1.[2]3F8a2AAT = 22,744 22,744 0
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